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1. (A) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ ¸ÛóÊ¶Û¶ÛÛé Š«ÛÁõ …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× ÅÛ”ÛÛé : 10 
  Answer any one out of the following questions in about 750 words : 
  (1) …µýÛÛ¸Û¶Û¶ÛÛ ÜÍÛ±ùÛ×©ÛÛé¶Ûä× ¾ÛÐü«ÈÛ ›÷¨ÛÛÈÛà ïõÛéˆ ¼Ûé ÜÍÛ±ùÛ×©ÛÛé¶Ûé ÍÛ¾Û›ÛÈÛÛé. 
   Mention the importance of principles of teaching. Explain any two 

principles of teaching. 
  (2) ÉÛíé“ÛÜ¨Ûïõ ¸ÛóÛíé²ÛéÜ•Ûïõà …é¤øÅÛé ÉÛä× ? …ÛµÛäÜ¶Ûïõ ÜÉÛ“Û¨Û¾ÛÛ× ©Ûé¶Ûä× ¾ÛÐü«ÈÛ ›÷¨ÛÛÈÛÛé. 
   What is the meaning of Educational Technology ? Describe its importance 

in modern educational practices. 
 
 (B) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ ¸ÛóÊ¶Û¶ÛÛé Š«ÛÁõ …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× ÅÛ”ÛÛé : 4 
  Answer any one out of the following questions in about 125 words : 
  (1) “¾Ûæ©ÛÙ¬Ûà …¾Ûæ©ÛÙ ©ÛÁõºõ” ÍÛæªÛ ŠþùÛÐüÁõ¨Û ÍÛÛ¬Ûé ÍÛ¾Û›ÛÈÛÛé. 
   Explain the teaching maxim ‘From concrete to abstract’ with an example. 
  (2) ÍÛÛÁõÛ …µýÛÛ¸Û¶Û¶ÛÛ ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé.  
   List out the characteristics of good teaching. 
  (3) ÐüÛ¦ÙøÈÛéÁõ …¶Ûé ÍÛÛé¹¤øÈÛéÁõ ¤éøïõ¶ÛÛéÅÛÛéœ÷ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ›÷¨ÛÛÈÛÛé. 
   Differentiate between hardware and software technology. 
 
2. (A) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ …ÛÉÛÁéõ 100 ÉÛ¼þùÛé¾ÛÛ× ÅÛ”ÛÛé : 6 
  Answer any two out of the following questions in about 100 words :  
  (1) …µýÛýÛ¶Û …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ ¸ÛÛ×˜Û ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé. 
   What is learning ? Mention its five features. 
  (2) ¸ÛóÉÛÛ”ÛÛ ¸Ûà™öé …¶Ûé ¸ÛóÉÛÛ”ÛÛ …Û•Ûé ÈÛ˜˜Ûé¶ÛÛé ½Ûéþù ›÷¨ÛÛÈÛÛé. 
   Differentiate between Forward Branching and Backward Branching. 
  (3) ¶ÛÛêµÛ ÅÛ”ÛÛé : “…é¦Õø•ÛÁõ ¦éøˆÅÛ¶ÛÛé …¶Ûä½ÛÈÛ ÉÛ×ïäõ”. 
   Write a note on : ‘Edgar Dale’s Cone of Experience’. 
 (B) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ ¸ÛóÊ¶Û¶ÛÛé Š«ÛÁõ …ÛÉÛÁéõ 500 ÉÛ¼þùÛé¾ÛÛ× ÅÛ”ÛÛé : 8 
  Answer any one of the following questions in about 500 words : 
  (1) …Ü½Û’õÜ¾Û©Û …µýÛýÛ¶Û …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ ÜÍÛ±ùÛ×©ÛÛé¶Ûà Í¸ÛÌ¤ø©ÛÛ ¤æ×øïõ¾ÛÛ× ïõÁõÛé. 
   What is Programmed Learning ? Explain its principles in short. 
  (2) ¸Ûæ™ö¸ÛÁõ™ö ©ÛÛÅÛà¾Û ¸ÛóÜ©Û¾ÛÛ¶Û¶ÛÛ ÍÛÛé¸ÛÛ¶ÛÛé ÍÛ¾Û›ÛÈÛÛé. 
   Explain the steps of Inquiry Training Model. 
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3. (A) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ ¸ÛóÊ¶Û¶ÛÛé Š«ÛÁõ …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× ÅÛ”ÛÛé : 10 
  Answer any one out of the following questions in about 750 words : 
  (1) ¾ÛÛˆ’õÛé ¤øàÝ˜Û•Û¶Ûà ÜÉÛ“Û¨Û-¸ÛóÜÉÛ“Û¨Û¾ÛÛ× ›÷ÄõÜÁõýÛÛ©Û ›÷¨ÛÛÈÛà ©Ûé¶ÛÛ ÍÛÛȩ́ ÛÛ¶ÛÛé ÜÈÛ•Û©ÛÈÛÛÁõ ÍÛ¾Û›ÛÈÛÛé. 
   Explain the importance of Micro Teaching in teaching learning process. 

Also describe the steps of Micro Teaching in detail. 
  (2) ¾ÛÛˆ’õÛé ¤øàÝ˜Û•Û¶ÛÛ ïõÛéˆ¸Û¨Û …Û¥ø ïõÛíéÉÛÅýÛÛé¶Ûà ýÛÛþùà …Û¸Ûà, ïõÛéˆ¸Û¨Û ¼Ûé ïõÛíéÉÛÅýÛÛé¶ÛÛ –Û¤øïõÛé 

ÍÛ¾Û›ÛÈÛÛé. 
   List out any eight skills of Micro Teaching. Explain the components of any 

two skills. 
 (B) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ ¸ÛóÊ¶Û¶ÛÛé Š«ÛÁõ …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× ÅÛ”ÛÛé : 4 
  Answer any one of the following questions in about 125 words : 
  (1) ¼ÛÐäüÍÛÛ×ÈÛéþùÜ¶Ûïõ …µýÛýÛ¶Û …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ¬Ûà ÜÈÛ²Û¬Ûâ¶Ûé ÉÛä× ºõÛýÛþùÛé ¬ÛÛýÛ ? 
   What is Multisensory learning ? How is it beneficial to students ? 
  (2) ¾ÛæÅýÛÛ×ïõ¶Û¶ÛÛ ÜÈÛÜÈÛµÛ ÍÛÛµÛ¶ÛÛé¶Ûà ýÛÛþùà ïõÁõà ’õ¾Û¾ÛÛ¸Ûþ×ù¦ø¶ÛÛ ¸ÛóïõÛÁõÛé ›÷¨ÛÛÈÛÛé. 
   List out various tools of evaluation. Mention the various types of rating scale. 
  (3õ) ¾ÛÛ¸Û¶Û …¶Ûé ¾ÛæÅýÛÛ×ïõ¶Û ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ˜ÛÛÁõ ¾Ûä°ùÛ¾ÛÛ× …Û¸ÛÛé. 
   Write four points of difference between Measurement and Evaluation. 
 
4. (A) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ …ÛÉÛÁéõ 100 ÉÛ¼þùÛé¾ÛÛ× ÅÛ”ÛÛé : 6 
  Answer any two of the following questions in about 100 words : 
  (1) ÜÉÛ“Ûïõ ÁõÜ˜Û©Û …ÛþùÉÛÙ ïõÍÛÛé¤øà¶ÛÛ ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé. 
   Mention the characteristics of the Ideal Teacher made Test. 
  (2) Ü¶ÛþùÛ¶Û ïõÍÛÛé¤øà¶Ûä× ¾ÛÐü«ÈÛ ›÷¨ÛÛÈÛÛé. 
   Mention the importance of Diagnostic Test.  
  (3) ïõÍÛÛé¤øà¶Ûé ¸Ûó¾ÛÛÜ¨Û©Û ïõÁõÈÛÛ¶ÛÛ ÍÛÛé¸ÛÛ¶ÛÛé ›÷¨ÛÛÈÛÛé. 
   Mention the steps to standardize the test. 
 (B) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ ¸ÛóÊ¶Û¶ÛÛé Š«ÛÁõ …ÛÉÛÁéõ 500 ÉÛ¼þùÛé¾ÛÛ× ÅÛ”ÛÛé : 8 
  Solve any one of the following in about 500 words : 
  (1) …Û¸ÛéÅÛ ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¸Ûó¾ÛÛ¨Û ÜÈÛ˜ÛÅÛ¶Û ÉÛÛéµÛÛé : 
 

ÈÛ•ÛÙ 10-14 15-19 20-24 25-29 30-34 35-39 40-44 
…ÛÈÛèÜ«Û 02 12 23 60 77 38 08 

   Find standard deviation from the following : 
Class 10-14 15-19 20-24 25-29 30-34 35-39 40-44 

Frequency 02 12 23 60 77 38 08 
  (2) ÍÛÐüÍÛ×¼Û×µÛ …é¤øÅÛé ÉÛä× ? ÜÍ¸ÛýÛÁõ¾Ûé¶Û¶ÛÛ ’õ¾ÛÛ×ïõ ©ÛºõÛÈÛ©Û¶Ûà Áõà©Ûé ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ÉÛÛéµÛà           

…¬ÛÙ–Û¤ø¶Û ïõÁõÛé.      

ÜÈÛ²Û¬Ûâ 1 2 3 4 5 6 7 8 9 10 11 
•ÛÜ¨Û©Û¶ÛÛ •Ûä̈ Û 80 45 55 56 58 60 65 68 70 75 85 
ÜÈÛßÛÛ¶Û¶ÛÛ •Ûä¨Û 82 86 50 48 60 62 64 65 70 74 90 

   What is correlation ? Find correlation through Spearman’s Correlation 
Method and interpret it. 
Student 1 2 3 4 5 6 7 8 9 10 11
Marks in Maths 80 45 55 56 58 60 65 68 70 75 85
Marks in Science 82 86 50 48 60 62 64 65 70 74 90
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5. ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ …Û¸ÛéÅÛÛ ÜÈÛïõÅ¸Û¾ÛÛ×¬Ûà ¸ÛÍÛ×þù ïõÁõà¶Ûé ›÷¨ÛÛÈÛÛé : 14 
 Choose the correct alternative from the given options : 
 1. ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛä× ¾ÛÛ¸Û ÜÈÛÊÈÛÍÛ¶ÛàýÛ ¾ÛÛ¸Û ™öé ? 
  (a) ¾ÛµýÛïõ (b) ÜÈÛÍ©ÛÛÁõ 
  (c) ¼ÛÐäüÅÛïõ (d) ¾ÛµýÛÍ¬Û 
  Which of the following is a reliable measurement ? 
  (a) Mean (b) Rangeõ 
  (c) Mode (d) Median 
 2. ÈýÛÜî©Û¾ÛÛ× ïõÛéˆ ÅÛ“Û¨Û¶Ûà ¾ÛÛªÛÛ ÍÛæ˜ÛÈÛ©Ûä× ÍÛÛµÛ¶Û ïõýÛä× ™öé ? 
  (a) …ÛéÇ”ÛýÛÛþùà (b) ÍÛÛ¾ÛÛÜ›÷ïõ©ÛÛÜ¾ÛÜ©Û 
  (c) ’õ¾Û¾ÛÛ¸Ûþ×ù¦ø (d) ¸ÛóÊ¶ÛÛÈÛÅÛà 
  Which one of the following tools only indicates the trait of any person ? 
  (a) Checklistõ (b) Sociometryõ 
  (c) Rating scale (d) Questionaire 
 3. ÍÛÜ˜Û¶Û¶Ûà ¤øàÉÛ¤Ùø¶ÛÛé ¶Û×¼ÛÁõ-10 ™öé, …Û ïõýÛÛ ¸ÛóïõÛÁõ¶Ûä× ¾ÛÛ¸Û ™öé ? 
  (a) …ÛéÇ”Û …×ïõ (b) ’õ¾ÛÛ×ïõ …×ïõ 
  (c) …×©ÛÁõ …×ïõ (d) •Ûä¨ÛÛé«ÛÁõ ¾ÛÛ¸Û 
  Sachin Tendulkar’s T-shirt no. is 10. Which type of measurement is this ? 
  (a) Identityõ (b) Rankõ 
  (c) Interval (d) Ratio 
 4. “”Û×Ü¦ø©Û ËÛé¨Ûà” ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛÛ …ÈÛÅÛÛéïõ¶Û¾ÛÛ× ¾ÛÇé ? 
  (a) ÈÛ›÷¶Û¶Ûä× ¾ÛÛ¸Û (b) ÿ˜ÛÛˆ¶Ûä× ¾ÛÛ¸Û 
  (c) ¼ÛÛÇïõÛé¶Ûà ÍÛ×”ýÛÛ (d) µÛÛé¶Ûà¶ÛÛ ÍÛÁéõÁõÛÉÛ Áõ¶Û 
  Which of the following examples is an observation of discrete series ? 
  (a) Measurement of weightõ (b) Measurement of heightõ 
  (c) Number of children (d) Average runs scored by Dhoni 
 5. …ÛéÇ”ÛýÛÛþùà ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ÉÛä× ¾ÛÛ¸Ûé ™öé ? 
  (a) ÅÛ“Û¨Û¶Ûà ÐüÛ›÷Áõà (b) ÅÛ“Û¨Û¶Ûà ¾ÛÛªÛÛ 
  (c) ÅÛ“Û¨Û …¶Ûé ÈÛÅÛ¨Û (d) ÅÛ“Û¨Û¾ÛÛ× ÁõÍÛ 
  What out of the following does checklist measure ? 
  (a) Presence of traitõ (b) Proportion of traitõ 
  (c) Trait and attitude (d) Interest in trait 
 6. 17-25 …×ïõ¾ÛÛ× ŠµÈÛÙÍÛà¾ÛÛ Ý¼Ûþäù ïõýÛä× ™öé ? 
  (a) 16.5 (b) 17.5 
  (c) 24.5 (d) 25.5 
  What is the midpoint of the class 17-25 ? 
  (a) 16.5 (b) 17.5 
  (c) 24.5 (d) 25.5 
 7. ÍÛÐüÍÛ×¼Û×µÛ¶Ûä× ¾ÛæÅýÛ ïéõ¤øÅÛä× ÐüÛéýÛ ™öé ? 
  (a) – 1  r  1 (b) – 1  r  1 
  (c) – 1  r  1 (d) – 1  r  1 
  What is the value of correlation ? 
  (a) – 1  r  1 (b) – 1  r  1 
  (c) – 1  r  1 (d) – 1  r  1 
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 8. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛÛé …µýÛÛ¸Û¶Û ÜÍÛ±ùÛ×©Û ™öé ? 
  (a) Ü’õýÛÛ ³ùÛÁõÛ …µýÛÛ¸Û¶Û (b) ßÛÛ©Û¬Ûà …ßÛÛ©Û 
  (c) …˜ÛÛé‘õÍÛ¬Ûà ˜ÛÛé‘õÍÛ (d) ÍÛ¾Û•Ûó ¸ÛÁõ¬Ûà …×ÉÛ ©ÛÁõºõ 
  Which of the following is the teaching principle ? 
  (a) Teaching through action õ(b) known to unknownõ 
  (c) indefinite to definite (d) whole to part 
 9. ÜÉÛ“Ûïõ …Û×•ÛÇà¶ÛÛ ÈÛé§øÛ •Û¨ÛÛÈÛà¶Ûé ÍÛÁõÈÛÛÇÛ ÉÛà”ÛÈÛé ©ÛÛé ©Ûé¾ÛÛ× ïõýÛÛ ÍÛæªÛ¶ÛÛé Š¸ÛýÛÛé•Û ¬ÛÛýÛ ™öé ? 
  (a) …˜ÛÛé‘õÍÛ ¸ÛÁõ¬Ûà ˜ÛÛé‘õÍÛ (b) ÍÛÛ¾ÛÛ¶ýÛ ¸ÛÁõ¬Ûà ÜÈÛÜÉÛÌ¤ø 
  (c) ßÛÛ©Û ¸ÛÁõ¬Ûà …ßÛÛ©Û (d) ¾Ûæ©ÛÙ ¸ÛÁõ¬Ûà …¾Ûæ©ÛÙ 
  Which of the following teaching maxim is applied when the teacher teaches 

addition through fingers ? 
  (a) Indefinite to definiteõ (b)  general to specificõ 
  (c) known to unknown (d) concrete to abstract 
 10. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÜÈÛµÛÛ¶Û ”ÛÛé¤ä×ø ™öé ? 
  (a) ¼ÛµÛÛ ›÷ ÈÛ©ÛÙ¶Û ¸ÛÜÁõÈÛ©ÛÙ¶ÛÛé …µýÛýÛ¶Û ¶Û¬Ûà. 
  (b) …µýÛýÛ¶Û …é ¸ÛýÛÛÙÈÛÁõ¨Û¶Ûà ¶Ûà¸Û›÷ ™öé. 
  (c) …µýÛé©ÛÛ¶Ûà ÈÛèÜ±ù¶Ûé ïõÛÁõ¨Ûé ¬ÛýÛéÅÛ ¸ÛÜÁõÈÛ©ÛÙ¶Û …µýÛýÛ¶Û ™öé. 
  (d) …µýÛýÛ¶Û Ð×ü¾ÛéÉÛÛ× ÍÛÐéü©Ûäïõ ÐüÛéýÛ ™öé. 
  Which of the following statement is incorrect ? 
  (a) Learning is not change in all behaviour 
 õ (b) Learning is the outcome of environment õ 
  (c) Learning is change in behaviour due to growth of learner 
  (d) Learning is always purposeful 
 11. ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛä× –Û¤øïõ Í¸ÛÌ¤øàïõÁõ¨Û ïõÛíéÉÛÅýÛ¶Ûä× ™öé ? 
  (a) ÍÈÛ˜™ö©ÛÛ (b) ¸ÛóÍ©ÛÛÈÛ¶ÛÛÄõ¸Û ÜÈÛµÛÛ¶Û 
  (c) ÍÛäÍÛ×•Û©Û©ÛÛ (d) …Û•Û¾Û¶Û 
  Which of the following component is of skill of explanation ? 
  (a) Neatnessõ (b) Introductory Statementõ 
  (c) Relevance (d) Inductive 
 12. …é¦Õø•ÛÁõ¶ÛÛ …¶Ûä½ÛÈÛ ÉÛ×ïäõ¾ÛÛ× ÍÛÛíé¬Ûà …Ûé™öÛé …ÍÛÁõïõÛÁõïõ ÜÈÛ½ÛÛ•Û ïõýÛÛé ™öé ? 
  (a) ÍÛ×ïéõ©Û (b) …ÈÛÅÛÛéïõ¶Û 
  (c) Ü’õýÛÛ (d) …Û¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÐüá 
  Which is the least effective element in Edgar Dale’s Cone of Experience ? 
  (a) Signal õ(b)  Observationõ 
  (c) Action (d) None of these 
 13. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ÉÛä× ÍÛÛé¹¤øÈÛéÁõ ïõÐéüÈÛÛýÛ ? 
  (a) ÜºõÅ¾Û ¸ÛóÛé›÷éî¤øÁõ (b) …éÜ¸Û¦øàýÛÛÍïõÛé¸Û 
  (c) ¤ÖøÛ¶ÍÛ¸ÛÁõ¶ÍÛà (d) ÍÅÛÛˆ¦ø ¸ÛóÛé›÷éî¤øÁõ 
  Which of the following is called Software ? 
  (a) Film Projectorõ (b) Epidiascopeõ 
  (c) Transparency (d) Slide Projector 
 14. ¾ÛæÅýÛÛ×ïõ¶Û ÉÛä× ¶Û¬Ûà ? 
  (a) Ðéü©ÛäÅÛ“Ûà ¸ÛóÜ’õýÛÛ (b) ÍÛ©Û©Û ˜ÛÛÅÛ©Ûà ¸ÛóÜ’õýÛÛ 
  (c) ÍÛÈÛÙ•ÛóÛÐüà ¸ÛóÜ’õýÛÛ (d) ºéõÁõºõÛÁõ ¶Û ïõÁõÛýÛ ©ÛéÈÛà ¸ÛóÜ’õýÛÛ 
  What does not apply as  a feature to Evaluation ?  
  (a) Objective oriented processõ 
  (b)  Continuous processõ 
  (c) Comprehensive process 
  (d) Process in which changes are not possible 

________ 


